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. The figure at the right is a square. After drawing two sets

of parallel lines (- {74 ) from its vertex - how many

trapezoids (#-75) does the figure have now?
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. From natural numbers 1 to 20 » multiply those two numbers with a
difference of 2 and record it in a sheet of paper. What is the sum of all
those numbers recorded in the paper?

A. 2449 B. 2450 C. 2451 D. 2452
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11.Andy, Bernie and Carol are cousins. When Bernie’s age is twice that of
Andy’s, then Carol is 26 years old. If Carol’s age is twice that of Bernie’s,
then Andy is 5 years old. How old will Bernie be when Carol’s age is

twice the age of Andy?

129 ve ~AZAREINF P K AF» BR AR S AE B
ApFE> F9 vz 4ad ik C¥

POflEARBEF I Y o2 we g BET eh2 7 s fnigps

FEAES 15 22 - 7RA- A~ B A ¥ ApEE N

13. 5817 5 7 #3754 a‘p#ﬁ’ ToRTE L AP EERIPER
i3 4ok QPEFAE Y 10 A48 Pl EAZE 1 A &JERN 10 A48 5 o
RER TS BT RRAT AR A A QRN I AT S
BPABZTES 678910445 it 754 > PRA B CE L DR
PPREE R o SRR REE_ AR -

14 4c B 5m - BT F 288 &0 2 L &

N PRAZ A e A S :

IMC EFE R s e P 5 AL E
F3H



15.% - 337 31100 40 * g 3 7wt - B3 K ey 3
Aoai R - B4R ehT o IRE S £ 1z o (F
YRR RS R F R E K

16. - BF B 2x2eh 4 > L a2 A7 R
1234 21 Rie e+ 4P LE 1
23 4> 2 1H & R 22 F o RAERT 7
B EZAYHBREE R R NEEES B AR - X 7

7

el o (473 7 P A Ap P =83 F ”fr]“r'r I & R)

2|1 1]2

S fREAL (FLAE10 4 0 2 20 A)
A

17 F AP = Fle e > BHY 5 - BB fr- BT @ dvis PR )
3 32, T JEA502 > THE | FL 6T o
BT Ioi B L 42 23 [pF > R w kpFenT o B S 50 02 9

IMC EFE R s e P 5 AL E
F4H



18.

Bep RBEF RN mHcE b BRoA, AT HE 012345678
910111213+ F - BH BB+ v 2 HN FAB8 BRI
Bt AF 3 REFETHY IR S L 2RI EFF T 2-3%
P T REIEFDS SR $ 56 REFIEIT 67 b4
01234567 5&54+ €87 5 “20136457 7 » diw =
BTFE 20137 ek BERF K I LERPBE S TR
FoAt AT RETER S R C 2013 7 2 (#K3

g,nm{@ﬁﬁ

+
T

IMC EFE R s e P 5 AL E
F5H



2013 ®F N E O F R

&
e | 1 2 3 4 5 6 7 8
$% | D C D B D C A C
e |9 10 | 11 | 12 | 13 | 14 | 15 | 16
%4 | 1053 | 10 | 26 | 90 | 310 | 42 | 96 | 456
17. 13

AN

10 g e — 304 5 o - 3R
T gk pE o (42-10x3)+(5-3)=6FF 5 L E 6x5=302 2 o
bt 10-6=4FF > B E 4x3=122 2

w kT B 12+6=2pF o

T yaiE B 42+(642)=5.252 2 /pF o

18. f% :

[JLJC0J2013 ¢ L0123 % 4 » & % & 12209/1230/123
HPo%- 98 1229 ehip = dkcF >

10

=% 10+90x2+900x3+230x4=3810%% -
s #% B+ 3810-1=3809 % o

IMC EFE R s e P 5 AL E
F6H




